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264’34’7*410*8ﬁ1ﬁ11ﬁ5ﬁ12ﬁ9%>c47087611
A knot d1agranl €1 Clo Cs Ci2  Cg

Ideals for irreducible component#ﬂ)f Xpar

I =2u* 4+ u* 4+ +5-9, 30 —3u® 4+ a1, W3 20+ 2u— 1)

* 1 irreducible components of dim¢ = 0, with total 37 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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I.
It = (2u3®+u®+.--+b—09, 3u®—3u?+...+a+1, u3"—2u3+. .. +2u—1)

(i) Arc colorings

o ()

0
ag = u
1
a3: _u2
U
a7 = u
wrtut+1
a4: u4
—3u3® +3u 4 -+ 5u—1
ao =\ —2u3 —uP 4. fu+9
—4u?® + 1003 + - — Tlu + 11
ag = \ —6u30 + 1703 + .. +18u — 12
uw?+1
ay = _u4
6u® — 10u3® +--- —12u+1
ay; = \ 5y — 14u?® + ... — 14u+15
—3u3 +2u% 4+ +u+1
a5 = \11u3% — 1535 + ... —6u —8
230 —3u 4+ —2u+1
a12 = \ 3u3 — Tu® + -« — 6u + 10

200 — U 4w —15
ag = \5y30 — 12435 + ... — 1lu+1

(ii) Obstruction class =1

(iii) Cusp Shapes

= 50036 — 5303 + 51303t — 472033 4 2604132 — 2103u3! +8527u30 — 600212 + 19933128 —
1209027 434843126 — 17999125 +46330u2* — 20392123 + 46429122 — 18028u>! +33354u2° —
12865u? + 14474u'® — 762107 + 48216 — 3677u!® — 3764u'* — 1370u'® — 174602 —
7050t + 62810 — 95442 + 99218 — 105617 +361ub — 70615 — 43u* — 276w —89u? — 49y — 37



(iv) u-Polynomials at the component



Crossings u-Polynomials at each crossing
c1 3T —20u3C 4+ - — 10u + 1
2 w3t =20 o 2u— 1
s w320 o 8u—1
Cy4 PV LAY BTy |
¢ w3t =T = 2u— 1
Co w320 o 2u 1
7 T
Cs T T R T |
Co w4+ 20030 + -+ 23u + 1
an WP =170 4+ 23u — 1
c11 W4 —2u 1
C12 W4T+ 4 3u—1







(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing

1 YT+ 4y o — 10y — 1
C2,Ce 3T+ 20p%¢ ... — 10y — 1
c3 T 6y 8y —1

C4, C8 3T 21950 . — 29y — 1
Ccs T 140 4 12y — 1
cr BT 1T 1Ty — 1
Co T 40 13y — 1
c10 YTy 4 435y — 1
ci1 YAy 24y — 1
C12 T2y 4+ 1Ty — 1




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1(vol + v=1CS)

Cusp shape

u = —0.149884 4 0.9757361
a = —0.898991 + 0.5810031
b = —1.59695 4 0.700981

—1.70560 + 1.290821

—4.10550 — 4.135001

u = —0.149884 — 0.9757361
a = —0.898991 — 0.5810031
b= —1.59695 — 0.700981

—1.70560 — 1.290821

—4.10550 + 4.135001

u = —0.600365 + 0.7045811
0.757124 + 0.6419671
b = —0.204265 + 0.7475331

a =

0.834960 + 0.2855531

—0.434596 + 0.2209191

u = —0.600365 — 0.7045811
0.757124 — 0.6419671
b = —0.204265 — 0.7475331

a =

0.834960 — 0.2855531

—0.434596 — 0.2209197

= —0.479565 + 0.9902461
0.864069 + 0.1514741
—0.0946240 + 0.06620651

—0.363148 — 0.6779221

0.56726 + 2.151351

—0.479565 — 0.9902461
= 0.864069 — 0.1514741
= —0.0946240 — 0.06620651

U
a
b
U
a
b

—0.363148 4- 0.6779221

0.56726 — 2.151351

u = —0.532442 4 0.9826907
a = —0.780782 — 0.6304671
b= —0.290116 — 1.3274801

—0.06388 — 4.776211

—1.68090 + 5.536811

u = —0.532442 — 0.9826907
a = —0.780782 + 0.6304671
b= —0.290116 + 1.3274801

—0.06388 + 4.776211

—1.68090 — 5.536811

u = —0.204733 4+ 0.8572951
a = —1.38015 + 0.704741
b= 0.0824504 + 0.03287331

—1.37034 — 3.023681

—8.36272 + 7.297071

u = —0.204733 — 0.8572951
a = —1.38015 — 0.704741
b= 0.0824504 — 0.03287331

—1.37034 + 3.023681

—8.36272 — 7.297071




Solutions to I}

V=1(vol + y/=1CS)

Cusp shape

0.459092 + 1.0359401
a= 0.59291 + 1.571361
b= —0.33683 + 2.072681

u =

2.24562 — 1.848881

1.43556 + 1.628921

w=0.459092 — 1.0359401
a= 0.59291 — 1.571361
b= —0.33683 — 2.072681

2.24562 + 1.848881

1.43556 — 1.628921

0.477509 + 1.0335101
a = —1.05702 + 2.061271
b= —0.71022 4 2.962251

u =

2.36710 + 8.220591

0.94025 — 9.933151

0.477509 — 1.0335101
a = —1.05702 — 2.061271
b= —0.71022 — 2.962251

u =

2.36710 — 8.220591

0.94025 + 9.933151

= 0.834958
a = —2.24679 —3.19671 32.4830
b= 0.265283
u= 0.325483 + 1.1526501
a 0.15406 — 1.635981 —4.68461 — 1.115261 | —3.13705 + 0.650631
b= 0.69492 — 2.015017
u= 0.325483 — 1.1526501

a= 0.15406 + 1.635981
b= 0.69492 + 2.015011

—4.68461 + 1.115261

—3.13705 — 0.650631

u = —0.500299 + 0.6081661
a = —0.471582 — 0.2579601
b= —0.12074 — 1.489511

0.79654 — 3.355151

4.80142 4 6.293461

u = —0.500299 — 0.6081661
a = —0.471582 + 0.2579601
b= —0.12074 + 1.489511

0.79654 + 3.355151

4.80142 — 6.293461

u = —0.743965 + 0.1685161
a = —1.330750 + 0.2232351
b= —0.105331 + 0.2925411

2.40521 4 5.567321

3.26355 — 5.7114471




Solutions to I}

V=1(vol + v=1C)

Cusp shape

u = —0.743965 — 0.1685161
a = —1.330750 — 0.2232351
b= —0.105331 — 0.2925411

2.40521 — 5.567321

3.26355 + 5.711441

u = —0.314889 + 1.1981201
a= 0.053522 + 0.8710531
b= 10.06739 + 1.506401

—1.73005 + 1.928801

—3.35941 — 1.640271

u = —0.314889 — 1.1981201
a= 0.053522 — 0.8710531
b= 10.06739 — 1.506401

—1.73005 — 1.928801

—3.35941 + 1.640271

u= 0.714811 4 0.2476911
a = —2.06738 — 0.585961
b= —-0.967121 — 0.0604121

—0.67794 — 4.350691

2.48170 + 5.541761

u= 0.714811 — 0.2476911
a = —2.06738 4 0.585961
b= —0.967121 + 0.0604121

—0.67794 + 4.350691

2.48170 — 5.541761

u=0.533806 + 1.1373301

a = —0.38517 — 2.118691 —3.23500 + 9.098941 0. —9.051671
b= —0.58596 — 2.859801

u= 0.533806 — 1.1373301

a = —0.38517 4 2.118691 —3.23500 — 9.098941 0.+ 9.051671
b = —0.58596 + 2.859801

u = —0.521067 4 1.1517201

a = —0.140342 + 1.1551901 | —0.38678 — 10.270707 0.+ 8.696351
b= 0.15772+4 1.997771

u = —0.521067 — 1.1517201

a = —0.140342 — 1.1551901 | —0.38678 + 10.270701 0. — 8.696351

b= 0.15772 —1.997771

u= 0.897315 4+ 0.9150501
a = —0.059712 — 0.1329291
b= —0.232633 + 0.0733991

7.99878 + 3.294561

—79.2024 — 47.45421




Solutions to I}

V=1 (vol + y/=1CS)

Cusp shape

0.897315 — 0.9150507
—0.059712 + 0.1329291
—0.232633 — 0.0733991

7.99878 — 3.294561

—79.2024 + 47.45421

0.404936 + 0.5894017
1.90809 — 1.556021
0.60872 — 1.281871

3.85891 — 4.385201

4.22215 + 3.530321

0.404936 — 0.5894011
1.90809 + 1.556021
0.60872 4 1.281871

3.85891 4 4.385201

4.22215 — 3.530321

0.451703 + 1.2221401
0.26811 — 1.732341
0.44350 — 3.825441

—6.86605 + 4.559271

40.6626 — 31.29871

0.451703 — 1.2221401
0.26811 + 1.732341
0.44350 + 3.825441

—6.86605 — 4.559271

40.6626 + 31.29871

0.365073 + 0.5615521
1.097390 — 0.6891911
1.05744 + 0.960701

3.81957 + 5.522021

4.99553 — 7.132791

> Q@ €|l & €| & €| & €| & 8|l & 8| & &

0.365073 — 0.5615521
1.097390 + 0.6891911
1.05744 — 0.960701

3.81957 — 5.522021

4.99553 + 7.132791
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II. u-Polynomials

Crossings u-Polynomials at each crossing
1 w3 — 2003 + - — 10u+ 1
€2 w3 =20 o 2u—1
€3 w320 4 8u—1
C4 W w1
& w3 — T o —2u—1
6 w320 o 2u 41
7 ¥ = 3uC 4~ Tu— 1
cs O LA |
Co w3+ 20030 + -+ 23u 41
c10 w3 =170+ 4 23u—1
c11 w3 — 4 o —2u 1
C12 T+ U+ 3u— 1
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ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing

‘1 T4y — 10y — 1
C2, C Y3+ 20y%0 + - — 10y — 1
c3 T 6y 4+ 48y —1

C4, Cs 21y 29y — 1
€5 YT — 14y 12y — 1
€7 g T 1Ty 1Ty - 1
Co W 40 13y — 1
C10 YT+ Ty 435y — 1
c11 YT 4y 24y — 1
C12 y37—17y36+~--+17y—1
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